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Note :

PAPER -1

This paper consists of Sixty (60) multiple-choice type of questions, out of which the
candidate would be required to answer any Fifty (50) questions. In the event of
candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 50 Q x 2 M = 100 Marks

1. P and Q are brothers. R and S are sisters. The son of P is brother of S. Q is related to R

as :
(1) Brother (2) Uncle (3) Father (4) Son
2. Inaclassroom, a communicator’s trust level is determined by :
(1)  the change of voice level (2) the use of abstract concepts
(3) eye contact (4) the use of hyperbole
3. A Cluster of propositions with a structure that exhibits some inference is called :
(1) An argument (2) An explanation
(3) A valid argument (4) An inference
4. A definition that has a meaning that is deliberately assigned to some symbol is called :
(1) Precising (2) Stipulative (3) Persuasive (4) Lexical
5.  Aspects of the voice, other than the speech are known as :
(1) Personal language (2) Para language
(3) Delivery language (4) Physical language
6.  Consider the argument given below :
‘Pre - employment testing of teachers is quite fair because doctors, architects and engineers

who are now employed had to face such a testing.’

What
1)

type of argument it is ?

Analogical (2) Psychological (3) Biological (4) Deductive

7. The next term in the series
2,5,10, 17, 26, 37, ? is :

(1)
o i

57 2) 62 3) 72 4) 50

N
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de: 39 YH-UF ° 96 (60) 9g-Tawedta g €, o 9 Seiear #i fREt of weme (50) T T SR
T B SHHIGAR EN TR (50) ¥ 2ifyeh YAl @1 SR I W SHICER R G T wem
T (50) A1 1 Hediehd fohal SR | 50 U9 x 2 3Tk = 100 37Hh

1. PIRQEEI RANSTAEI PH TASH W 1 Q FIRH FH1 Faief ¢ 2
(1) w% (2) = (3) o 4) T

2. Hel | UH HYuE 1 favar =R fAuifa e g
(1) STE™ R % IRedd 9 (2) STd TAURMST o AT &
(3) TR faam 9 (4) SAfawEfa & gam |

3. TTEAER deharRl w1 99, < §o frehd yefifd #d €, Framr @
1) T dh 2) TH TR
(3) U 9% qh (4) T ferd

4. Feiqol gferen f519 Hie-THee 39 Wdishl & fay e fhen s 8, weam @
(1) uRgsa (2) wW@HMHT IRa™M (3) YIIRN (4) wro-fames

5. U % SN STETS % YRSl bl ST ST ¢
(1) Safaqs T & €9 (2) U AWk €9 H
(3) foawor v % w9 (4) IMOReE W o w9 H

6. 1= feu U 9 R fo=m =ifew .

‘Torerehi w1 AR gd wieron foega 3faa ® Hife fafwce, arger ta stfirrmsti, sit 59 994
g €, 1 TH T BT HHAT KA g2l

7% T YR 1 qeh B 7
(1) YT a® (2) HACIE (3) Sifasw (4) AR

7. TG oG i ST &A1 Bt 2
2,5,10,17,26,37, __ 2
57 2) 62 (3) 72 (4) 50

1)
oo | RPN I

w
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10.

11.

12.

13.

14.

ot HIHHIIIIIHHH\II\

The main objectives of student evaluation of teachers are :

(a) To gather information about student weaknesses.

(b) To make teachers take teaching seriously.

(c) To help teachers adopt innovative methods of teaching.

(d) To identify the areas of further improvement in teacher traits.
Identify the correct answer from the codes given below :

(1) (b), (c) and (d) only (2) (a), (b) and (c) only
(3) (a) only (4) (a) and (b) only

l rd
3
60. The mean of the remaining students is found to be 78. The mean of the whole group will
be :

1) 76 Q) 74 @) 72 4) 80

A group of 210 students appeared in some test. The mean of of students is found to be

Anil after travelling 6 km towards East from his house realized that he has travelled in a
wrong direction. He turned and travelled 12 km towards West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :

(1) 14 km 2) 12 km 3) 10 km (4) 20 km

Every type of communication is affected by its :

(1) Transmission (2) Non-regulation (3) Context (4) Reception

A party was held in which a grandmother, father, mother, four sons, their wives and one
son and two daughters to each of the sons were present. The number of females present in
the party is :

1) 14 2) 18 3) 24 4) 12

Most often, the teacher - student communication is :

(1) Critical (2) Utilitarian (3) Confrontational (4) Spurious

Using the central point of the classroom communication as the beginning of a dynamic pattern
of ideas is referred to as :

(1) Problem - orientation (2) Idea protocol
Mind mapping (4) Systemisation
LTI ‘
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8. foenff=i gru foerehi & Howrish & H&7 WA % -
(a) foenfofal o6t FuSIREl & R | BRI Tha HT|
(b) Toreres =t freror sl wiefieat & o 1 HeW <A
(c) Toreror &t e faferai etaam § forereni o1 @t e |
(d) Torerw & TN A AR AT GUR & &3 T Te=TH B
T Tl T e ¥ W& IR H =TI FiS
(1) F (b), () ¥R (d) () FFA (a), (b) IR (c)
(3) F9 (a) (4) FAA (a) N (b)
9. 210 BT w1 TH wqE fRE wdhen § wniha g %wﬁwmwwww%l 19 BT 61 HIEA 78
T S § | q WU T T W1 1 e 2
1) 76 2) 74 (3) 72 4) 80
10. e 7 oo =R Y g i fown # 6 f . =6t g 79 0 & o1e 92 7eygy foran o6 39 wTera feen o
T T ® T I 99" g AR afvem it fewn # 12 fe . @ g 99 #, e SR gHeR o
FHETE Tgod & T 8 fom . &1 g0 7 #1 | 3UFH W Y wEfed HI et & frat €2
1) 14 fe.H. 2) 12 feH. (3) 10 fe.H. 4) 20 ..
11.  T&% YhR HT GY901 GIfad S &
(1) HRUH 2) W-fafemad  (3) wHed 4 4) e |
12. U Ul tEifea st e o <, fuan, wrn, 9R qF, St ufere oI e U9 % TS UF Ud o
g 3ufterd 1wl # Iufeerd wfeensti st e fhat 82
1) 14 2) 18 (3) 24 4) 12
13.  foersh-a= Shwo ye: e
(1) T (2) SUEIRTAER OERIREI:ED (4)  eTgTHIfOTR
14. fouri & fasiia e =t yeeTa & fau wan 999w &1 F=<g fag & €9 Ja0 FHgam §
(1) THE-SYETF ) foram dew
(3) Hfesh fesor (4) ST
oo [ HIMUALAMHARI 5
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15.

16.

17.

18.

19.

oo | VNN I

If the proposition “‘No men are honest’ is taken to be false which of the following proposition/
propositions can be claimed certainly to be true ?

Propositions :
(I) Some men are honest (2) Some men are not honest
(3) No honest person is man (4)  All men are honest

The next term in the series :
B2E, D5H, F12K, H27N, ? is :
1) 162Q (2) Q62 (3) 158Q (4)  J561

Consider the following assertion (A) and reason (R) and select the correct code given
below :

(A) : No man is perfect.

(R) : Some men are not perfect.

(1) Both (A) and (R) are true and (R) provides sufficient reason for (A).

(2)  (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true but (R) does not provide sufficient reason for (A).

Attitudes, actions and appearances in the context of classroom communication are considered
as :

(1) Non-verbal (2) Impersonal (3) Irrational (4) Verbal

Among the following propositions two are related in such a way that they can both be true
although they cannot both be false. Which are those propositions ? Select the correct code.

Propositions :

(a) Some priests are cunning.

(b) No priest is cunning.

(c)  All priests are cunning,.

(d) Some priests are not cunning.

Codes :

1) ©and(d (2 @and(© () @and(d) (4 (a)and (b)

=)}
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15.

16.

17.

18.

19.

(1)
o

7fg qehaTe {hIE TIeHl $HTMER el § i Terd W 9Tl § o freferfad qehare /qeharern § 9 fha
Ffeeasye 92t 89 1 e foman S wehar € 2

aﬁmm:
(1) T TEH TAMER T (2) TS ACH THMIR T B |
(3) IS SHMGR =AfeR AeHt Tl ¢ | (4) |t STEHT TAMER £ |

TG G H1 ST IS T BT 2
B2E, D5H, F12K, H27N, __ 2
(1) 162Q (2) Qe62] (3) 158Q (4) J56I

frefafea sifuere (A) 3R ek (R) W fa=r #ifse R feu T %2 @ 9@ 3S® #1997 ST
(A) : =T TeH Ul &l |

(R) : Fo e 7o T2 €|

(1) (A) 3R (R) I T2 ¥ &R (R), (A) F foIw v doh Jqd a2 |

2) (A)¥H T, T (R) 9 B

(B) (A) 39 T, T (R) TA &1

4) (A) 3 (R) IFT T T (R), (A) & TTC v deh g 7 T B

FHeTl W9 % Heo § wAgiadl, Sl ud ek &l fRy w1 H 99en | § 2

(1) emmfsge OIEERIESED () =T (4) g

frefafEa qehamer § <1 39 T8 Q@ Tefyd g f 9 SHi 98 81 9ohd © J=i9 o SH1 TTeTd 781 8l Jehd © |
J ThaTH HIH € 7 W& e H TAT HIfSC |

AhdTeH :

(a) FS R ¥ &d €

(b) hIE TR g T el |

(©) | IR o B T

(d) TS I Yd el 2§ |

%<

(c) ¥R (d) 2 (@) ¥R (o) (3) () FR(d) (4) (a) 3R (b)

N
=
=
o
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Given below in the table is the decadal data of Population and Electrical Power Production of
a country.

Year Population (million) Electrical Power Production (GW)*
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
*1 GW =1000 million watt

Based on the above table, answer the questions from Sl. No. 20 to 25.

20. In which decade, the average power availability per person was maximum ?

(1)  1991-2001 (2) 2001-2011 3) 1971-1981 (4) 1981-1991

21. Average decadal growth rate (%) of population is :
(1) ~9.82% (2) ~6.73% B) ~5% (4) ~12.21%

22. In the year 1951, what was the power availability per person ?
(1) 200 W (2) 400 W (3) 500 W (4) 100 W

23. By what percentage (%) the power production increased from 1951 to 2011 ?
(1) 300% (2) 600% (3) 900% (4) 100%

24. Which decade registered the maximum growth rate (%) of population ?

(1) 1971-81 2) 1991-2001 (3) 2001-2011 4) 1961-71

25. Based on the average decadal growth rate, what will be the population in the year 2021 ?
(1) 38.49 million (2) 37.28 million (3) 36.62 million (4) 40.34 million

oo | VNN I

@
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Frfafaa afeent & 291 &1 STaTet 3R faea Sates & T9meTa i fau T ¥)

T strene (fuferem #) ferera Sedre (vt =) *
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
* 1 7 g = 1000 fufaa ae

IUHe ATfeTehT oh STTER U U9 HE&AT 20 | 25 o 37X ST |

20.
21.

22.

23.
24.

25.

ou \||H||H||H||H||\|N|||“!IIIIH\H!III\HI\IHII\H\|||!||!|H|“||H\||H||!

oo o= ¥, ufa =afa faga 1 i Suaeara gaitae off ?

(1)  1991-2001 (2) 2001-2011 (3)
ATeTET 1 STHA TUF Il W (%) FNB?
1) ~9.82% Q) ~6.73% (3)

a9 1951 ¥, 9fq At faga 1 Suetswarn fohat of ?

(1) 200 =1

(2) 400 ¥ 3)

1971-1981 (4)
~ 5% (4)
500 912 (4)

a9 1951 § 2011 % st fora wfaera & foega Scarew & 9fg g8 €72

(1) 300%

) 600% (3)

900% (4)

freTel 1 Helltaeh gia T (%) ford <9k # < 61 8 2

(1) 1971-81

(2)  1991-2001 (3)

2001-2011 (4)

aﬁwwmq@aémnwmaﬁzozﬁmmﬁ#ﬁ?
38.49 fafersm  (2) 37.28 fafesw (3)

]
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~12.21%

100 dre

100%

1961-71

40.34 Tt
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26. Assertion (A) : People population control measures do not necessarily help in checking
environmental degradation.
Reason (R) : The relationship between population growth and environmental
degradation is rather complex.
Choose the correct answer from the following :
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.
(3) (A) is false but (R) is true.
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
27.  Which of the following enables us to send the same letter to different persons in MS Word ?
(1) Mail copy (2) Mail insert (3) Mail merge (4) Malil join
28. Public Order as an item in the Constitution figures in :
(1) the State List (2) the Concurrent List
(3)  the Residuary Powers (4) the Union List
29. The grounds on which discrimination in admission to educational institutions is constitutionally
prohibited are :
(a) Religion
(b) Sex
(c) Place of birth
(d) Nationality
Select the correct answer from the codes given below :
(1) (a), (b) and (0 (2) (a), (b) and (d)
(3) (@) (b) (c) and (d) (4)  (b), (¢) and (d)
30. NMEICT stands for :
(1) National Mission on E-governance through ICT
(2) National Mission on E-commerce through ICT
(3) National Mission on E-learning through ICT
(4) National Mission on Education through ICT
31. Which of the following pollutants can cause cancer in humans ?
(1) Mercury (2) Lead (3) Ozone (4) Pesticides
oo [[EHNATNIMETI 1
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26. JAMUHRYT (A): SHEEA FEI0 & IR ¥ e €9 9 TAERNT g T Tk § 7 T8l Hed!
g
a6 (R): a%@q@ﬁmﬁﬁam%ﬁaww&aﬁa%
frfafea @ & SR =1 =99m Hifvu
1) (A) 3R (R) I A ¥, TG (R), (A) FT T TR & ¢
2) (A) ¥ ¥, T (R) 39 g
(3) (A) A T, W (R) §A T
(4) (A) 3R (R) TH T T 3R (R), (A) FT TE TR |
27. Trefafea 4 @ &9 &6 s & o3 # T, 9 J fofie safaaal &t a9 o gaef samn €2
(1) e it (2) B9 TES (B) Ta S (4) WA S
28. WfauM ¥ Us U & ®Y A @ e fefafea § 9 fead et ®2
(1) =g 2) TEd g
(3) srafire wfemal § (4) waEH
29. Sterforer Heensti H oW H oA STuRl W fRT <M 9Tt weTdTa =1 Haentie & 9 oy faman mn g2
gt
g
(c) SH¥ME
(d) gt
e fou TC e H | W S B T HI
(1) (a), (b) 3R (o) 2) (a), (b) 3R (d)
(3) (@), (), (0) 3R (d) 4) (b, (0) ¥ (d)
30. TATALAE A waAd T
(1) e feE T g o ee H .
(2) Era faeE T - o e
(3) e faed off7 E-affn o s
(4) TeEA fAeH 7 ThTE g oTE E AL
31. ffafad & @ f6d gus & SR 9Fd ®1 HE & ohal § 2
(1) 9™ (2) (3) I (4) hISINH
ooo | [HIIRAICLN n
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32.  Which of the following statements are correct about Lok Sabha ?
(a) The Constitution puts a limit on the size of the Lok Sabha.
(b) The size and shape of the Parliamentary Constituencies is determined by the Election
Commission.
(c)  First - past - the Post electoral system is followed.
(d) The Speaker of Lok Sabha does not have a casting vote in case of an equality of votes.
Select the correct answer from the codes given below :
(1) (a), (b) and () (2)  (a) () and (d)
(3) (@), (b), () and (d) (4) (a) and ()
33. The term of office of the Advocate General of a State is :
(1) 5 years
(2) 6 years or 65 years of age whichever is earlier
(3) not fixed
(4) 4 years
34. Which among the following States has the highest number of seats in the Lok Sabha ?
(1) Rajasthan (2) Tamil Nadu (3) West Bengal (4) Maharashtra
35. At present, in terms of per capita energy consumption (kWh/year), identify the correct
sequence.
(1) Russia > China > India > Brazil (2) Russia > China > Brazil > India
(3) China > Russia > Brazil > India (4) Brazil > Russia > China > India
36. Which of the following phenomena is not a natural hazard ?
(1) Lightning (2) Landslide
(3) Chemical contamination (4) Wildfire
37. Which of the following are the objectives of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?
(a) To improve the overall quality of state institutions.
(b) To ensure adequate availability of quality faculty.
(c) To create new institutions through upgradation of existing autonomous colleges.
(d) To downgrade universities with poor infrastructure into autonomous colleges.
Select the correct answer from the codes given below :
(1) (a), (b) and () (2)  (a) () and (d)
(3) (@), (b) and (d) 4) (), (b), () and (d)
oo J[HINIURVINIA 2
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32.

33.

34.

35.
36.

37.

o [

Wi 991 & "oy § frefafed § § -9 & 98 § 2

(a) Hf9u™ ¥ @k 91 % GSHl ! HEA1 T i TF HI T 7

(b) oS et &5 % i iR eTeR frate e g/ frwifa fa o )
() WR-TR-T Ure fafed Jome ST St |

(d) T % TEE wA w feafa & cmrgameet % ag ot 7a 11 g §)

= QU 7T Fe # ¥ WE W & TIF DT

(1) (@), (b) ¥R () 2) (), (o) 3R (d)
(3) (a), (b), () ¥R (d) 4)  (a) ¥R (o)
Teh T & Helfodel &1 e el ¢ ¢

(1) 5ad

(2) 6T AT 65 AW HT Y S o TEA &

@) Tauifa & €

(4) 49d

frefoafed T o 9 f7e 9 &1 i 991 | €l i §& gaitees ¢ ?

(1)  TSTEH (2) dfHerrg (3) UfT=™ ST (4) HERL
o H, gfd safed it @ua (felt 9 ser/ad) & Ged 8§, Wt %9 *t 9ga Hif |
(1) 9 >=H > 9Rd > Jid (2) ®H>HM > dSd > 9Rd

(3) = > w4 > FEid > WRd (4) SSid > &9 > = > 9Rd
frefafead & @ S-S T Thfds Tad Té § 2

(1) foseft Sigm (2) FETH

(3) TEMEfTHR Hguu (4) et

T = e s1fam (sRg.waT,) & ffafed § 9 @1 3299 € 2

(a) HIHRRI GEAS ! FHY O H GHR HEAT |

(b) T[UTETYUl HeRTAl i TATE STl GHATEd BT |

(c) THM TEad HElaeTedl o o3 o HILAH ¥ g 9eATC giord wT |

(d) STHAT FATEHA et Tereafa=merdl &1 W geifoarerdl | STEe & |

= U 7T Fe & T Wl IW FH =TI FIWC
(1) (@), () 3R (o) 2) (), () ¥R (d)
(3) (a), (b) ¥ (d) 4)  (a), (b), (0) ¥R (d)
LILTTRORTREI 13
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38.

39.

40.

41.

42.

43.

o [

In a Computer a byte generally consists of :

(1) 8 bits (2) 16 bits (3) 10 bits (4) 4 bits

As part of National Climate Change Policy, Indian government is planning to raise the
installed capacity of renewable energy by the year 2030 to :

(1) 200 GW 2) 250 GW (3) 350 GW (4) 175 GW

Inside rural homes, the source/sources of Nitrogen Oxide Pollution may be :
(a) Unvented gas stoves

(b) Wood stoves

() Kerosene heaters

Choose the correct code :

(1) (b) and (c) only (2) (b) only

(3) (a), (b) and (c) (4) (a) and (b) only

Which of the following is an open source software ?
(1) Windows (2) Mozilla Firefox
(3) Acrobat Reader (4) MS Word

Which of the following is not an input device ?

(1) Keyboard (2) Joystick (3) Monitor (4) Microphone

Which of the following is an instant messaging application ?
(a) WhatsApp

(b) Google Talk

(c) Viber

Select the correct answer from the codes given below :

(1) (b) and (c) only (2) (a) only
(3) (a), (b) and (c) (4) (a) and (b) only
VMR 1
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38. TUH HT H TH a6 H HHMIG: M B € -
(1) 8 feazm 2) 16 fozH (3) 10 foeH (4) 4 fozg

39. USME Soar] iadd Hifd & 96 & ®9 §, 9Rd TR Hi a9 2030 Toh TAh0NT Hell i qefud
&THdT 1 el dh g hi A ¢ 2

(1) 200 GW 2) 250 GW (3) 350 GW (4) 175 GW

40. IO IR H, ASEISH STHAIES YU H1/%F FIq & Tehdl &/ FHA § ¢
(a) 9 f7m =t grawumfed 19 Joa

(b) R weEl

() Tl 91 =t grex

WA FT H 99 HINT

(1) e (b) 3R (o) (2) e (b)

3) (@), (b) R (o) (4) 9 (a) 3R (b)

41. fr=fafed § 9 #F o 9 giweaeR 2
1) fae= (2) TSI FREChHRE
(3) T T 4) THTHTE

42, frafafed # & #F fash (s7ge) fearq T& 272
1) wEe (2) At (3) HiH (4) TTEHIBHE

43. frefafed § 9 =1 T 39 BafsT Ty 82

(a) EEETT

(b) T TE

(c) =R

1= ST 7T e | | WE W N TIF HIWT

(1) e (b) 3R (o) (2) A (a)

(3) (a), (b) 3 () (4) e (a) 3R (b)

oo NI
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44. Which of the following are the characteristics of a seminar ?
(a) Itis a form of academic instruction.
(b) It involves questioning, discussion and debates.
(c) Itinvolves large groups of individuals.
(d) It needs involvement of skilled persons.
Select the correct answer from the codes given below :
(1) (b) and (d) 2) (b) (c) and (d)
(3) (@), (b) and (d) (4) (b)and (9
45. Which of the following attributes denote great strengths of a teacher ?
(a) Full-time active involvement in the institutional management
(b)  Setting examples
(c) Willingness to put assumptions to the test
(d) Acknowledging mistakes
Select the correct answer from the codes given below :
(1) () (c) and (d) ) (), (© and (d)
(3) (), (b), (c) and (d) (4) (), (b) and (d)
46. Which of the following statements is not true in the context of participatory research ?
(1) It emphasises on people as experts.
(2) Itis a collective process of enquiry.
(3) Its sole purpose is production of knowledge.
(4) It recognizes knowledge as power.
47. Which of the following statements is true in the context of the testing of a hypothesis ?
(1) It is only the null hypothesis, that can be tested.
(2) Both, the alternative and the null hypotheses can be tested.
(3) Both, the alternative and the null hypotheses cannot be tested.
(4) It is only the alternative hypothesis, that can be tested.
48. Which one of the following statements is correct in the context of multiple - choice type
questions ?
(1) They are less objective than essay type questions.
(2) They are more subjective than short-answer type questions.
(3) They are more subjective than true-false type questions.
They are more objective than true-false type questions.
ot HI“I!I||II\|||H\||\|H\||\|H|\I\IHIIHII\!III\I“III\II\I“IIHIIHIHI\ 1
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44.

45.

46.

47.

48.

frefafaa § @ FH-%F fHd AR *1 fagmand €2

(a) I TH STHGHF TRV F THR T |

(b) THEH WA HIAI, 9= o ae-foare wiva ¥

() THH AfFE % oS e wmikd 2 §

(d) =HH FEgE AfKE! h1 Wi@d hi STEavFRdl Bl ¢ |
= ST 7T e ¥ WE ST T TIT HIWC :

(1) (b) 3R (d) 2 (b), (o) R (d)
(3) (a), (b) ¥ (d) 4)  (b) ¥R (o)

frefafed § @ SH-%F § 707 fordt foarew #1 9 dha 1 yefiia i § 2
(a) HEIFTA YaEd | qUichIiaeh |isha Hicraal

(b)  3<TEIUT T Il

(c) STIYNUNS & TH& o fIw T @

(d) Tl ! WHHR KT

= QT 7T e ¥ W W AT T HIWT ¢

(1) (b), () 3R (d) 2) (@), (o) ¥R (d)

(3) () (b) (o) ¥R (d) 4)  (a), (b) ¥R (d)

frefafed § & ®F-W FoF Feur STIEuH & gy § w9 & 72
(1) 38 @i o foivg 7 R SR < 7

(2) 9% 5™ &I TH AHfed IR €|

(3) THHI THHATH 3e¥F A1 1 SR © |

(4) ¥E I H UK F T H UgEEA R

frafafaa § @ F-w1 wom fFdt aReean & ademon & dedf & wdr 82
(1) ¥ %ad T IReed ¢, S when foman s w2 |

(2) AhfcTs TS T SHI RIS T IO fHaT S Heha T

(3) Hhfeush Td T SHI UReheuTeTl 1 T Tei A S Hehel T |
(4) IE HIA dRfcTh TReAeT &, THeHT qliaqor foman S Fehet |

frafafed § @ SF-91 FA 9g-fashey YR & Ue & ded # @&t 72
(1) 3 7oy et ye i %t gor § w9 SRS e )

(2) o -3 T YT i o | Aferk AT B T

(3) O WEI-Terd 9T YA i ga § iy safwits @

(4) o HE-TETd STt YAl Rt gor § e aegfTs B €
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49. What are required for good teaching ?
(a) Diagnosis
(b) Remedy
(c) Direction
(d) Feedback
Select the correct answer from the codes given below :
(1) (a) and (b) (2) (), (©) and (d)
() (¢)and (d) (4) (@), (b), (©) and (d)
50. Which of the following are the basic rules of APA style of referencing format ?
(a) Italicize titles of shorter works such as journal articles or essays
(b) Invert authors” names (last name first)
(c) Italicize titles of longer works such as books and journals
(d) Alphabetically index reference list
Select the correct answer from the codes given below :
(1) (), (©) and (d) (2) (¢)and (d)
(3) (), (b), (c) and (d) (4) (a) and (b)
51. Ethical norms in research do not involve guidelines for :
(1) Copyright (2) Patenting policy
(3) Data sharing policies (4) Thesis format
52. What are the characteristics of Continuous and Comprehensive Evaluation ?
(a) It increases the workload on students by taking multiple tests.
(b) It replaces marks with grades.
(c) It evaluates every aspect of the student.
(d) It helps in reducing examination phobia.
Select the correct answer from the codes given below :
(1) (b) and (d) (2) (a), (b) and (0
(3) (), (©) and (d) (4) (@), (b), (©) and (d)
53. A researcher is interested in studying the prospects of a particular political party in an urban
area. What tool should he prefer for the study ?
(1) Interview (2) Questionnaire (3) Schedule (4) Rating scale
oo [[EHNATNIMETI 1
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49. 31=3 fraqor o foru sm-=Rn smiferg €2
(a) Trem
(b) TR
() frew
(d) wfagfte
= ST T %e ¥ WE W H =TI HIWTC
(1) (a) 3 (b) (2)  (b), (0) ¥R (d)
(3) (o) ¥R (d) 4)  (a), (b), () ¥R (d)

50. frfafed § @ ®F-30 Th.U defit & deof yEy & qayd fam €2
(a) B FfdEl S FHa @ v ey, & 3w fower w fad
(b) @RI % M Il e fard (SHAfqH T4 T8a)
(c) N Hfqal 9 g T Sd, & MHw st & fad
(d) Hev e gfafedi w1 suigewn § g w

T fou 7T F2 A WE W F1 T HIC ;
(1) (), () AR (d) 2) () &R (d)
3) (), (b), (0) &R (d) (4)  (a) 3 (b)

51. = 4 & forosh faw oy & e Hee Al & feenfde snfaa =& 2 ?
(1) TATHHRR (HITRIE) (2) U Hifa
(3) = v Hifd (4) Y &Y

52. HUd TS AT YAk i foIoang sr-=r1 & 2
(a) TG T TN F FRU B F FEIR § g Hm 2|
(b) IE Wikl ! Te § Ficwenfyd w7
(c) ¥ B % ToIT U8e] 1 eIk hidl ¢ |
(d) I8 TU&T & ST HI HH H H gl HIA ¢ |
= QT 7T e ¥ W W AT =TI HIWT ¢
(1) (b) 3R (d) 2 (@), (b) 3R ()
() (®), (© W (d) @ (@), (), () 3R (d)

53. U ATHUMHA! hdl Il & B Tk qoriias <ot fasis st Hrerel & 1e7aq ¥ 359 €1 39
AT T e ITHIT 1 FFAT <A1 =ML 2
1)  HI&TehIT (2) Al (3) STIHEl (4) TruRo A

(
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54. Greater the handicap of the students coming to the educational institutions, greater the
demand on the :

(1) Society (2) Teacher (3) State (4) Family

55. As Chairman of an independent commission on education, Jacques Delors report to UNESCO
was titled :

(1) Millennium Development Report

(2) Learning : The Treasure Within

(3) World Declaration on Education for All
(4)

4) International Commission on Education Report

Read the following passage carefully and answer question numbers 56 to 60.

I did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly I was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in-joke or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that I realised, to my horror, that I had forgotten how to write. My entire existence
is “tap letters into computer”. My shopping lists are hidden in the notes function of my phone. If
I need to remember something I send an e-mail to myself. A pen is something I chew when I'm
struggling to think. Paper is something I pile beneath my laptop to make it a more comfortable
height for me to type on.

A poll of 1,000 teens by the stationers, Bic found that one in 10 don’t own a pen, a third have
never written a letter, and half of 13 to 19 years - old have never been forced to sit down and write
a thank you letter. More than 80% have never written a love letter, 56% don’t have letter paper at
home. And a quarter have never known the unique torture of writing a birthday card. The most
a teen ever has to use a pen is on an exam paper.

Bic, have you heard of mobile phones ? Have you heard of e-mail, facebook and
snap chatting ? This is the future. Pens are dead. Paper is dead. Handwriting is a relic.

“Handwriting is one of the most creative outlets we have and should be given the same
importance as other art forms such as sketching, painting or photography.”

Answer the following questions :
56. How many teens, as per the Bic survey, do not own a pen ?

(1) 560 ) 500 3) 100 (4) 800

57. According to the author, which one is not the most creative outlet of pursuit ?

(1) Photography (2) Sketching
(3) Reading (4) Handwriting
oo [ IEFINANNMINIRHN 2
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54. Seifore Tl @ S aTel T Rl ST STETE ST, St fie STde
(1) wESHEM (2 FrmdM 3) T (4) @R § 2|

55. foien % &9 H U WdA AER & e kT H A F T HI TE Swd feard at fde @
Sise o
(1) Tocitem Sy e
(2) @ffn . g e fafe
(3) dce feity™ A TIHIHE ®R 31fa
(4)

STYHA HIYE I ThvH U

FrfafEa oTTese & Araurigdes Ufeq 3K 56 | 60 T % Yl o I T

T € H B et s fma Sl AU T 9 FE W SR F B © SR I Y 3774 379 § TH
g €, foavrer Sefer 30 o2 w1 F1 o B S a1 gl o1 H orae vt feurfa # on, 59 sty A
Teh GO A1 faAIgqul Ha1g 9 $197el 37—k AL STREH & ofd IuSeA i fEufd | g9 I 3uerey
T fashedl @ erfaed B §9 7@t famm =1 fofa o @ e o1, 3tk §, S

wfia g st Y g o for & @ faeT & @ T g1 30 @ saT-9 onE € s W
el w1 gl | WIRRT 7Y B T @ W EE & A ywe H {3 T 1 Al g2 A A¢ F A Tawashd
Tl T, @ H TR T H -0 A QA § | 59 H 52 Hra-foar # ged o @ g § O § o1t e 5o
T E | HITS FS 39 e A & F8 § vei % < UHiI a1 § qifeh S 3 39! Sa18 3R faw sifuss
gfaurse g 9 |

AT fagharetl R 1,000 THeIR serenl o Taetor |, foss 3 qrn fo 59 10§ 9 T fhoiR &
T SO FAH TR, 3TH 9 WA A A FH 0 T fAamn T W@ 139 19 9 % A o & oY fReni
F FHt off arem 7 o T fF 3 93 iR g=yare w1 0 fad | 80% | ATy fheiRi 3t weft oft #E Un
T3 el fern, 56% % TR W U3 1 HITS T8l & | 91 & TH-TE I d THeT & HIe fagd &l
STEHA 1 Thig SR of T8l gs | 3Afaeh § 31faeh Afs fohelt fReiR =1 et o TN &1 STEeashdl g8 a1 98
ot et 99 79 &1 SR faad 7

foreh, 3 QA heft HiaTEd RF % TR W gA R 2 I g -0, HEgH SR T =fdn & an # g
%2 It 9oy €| Her® T STHM WA HEIS HT T T TG 76 Ta9 T T4 ¥ |

“ FAR U ERIIE A Haltie TsiTeaes STfveafad § qun 38 Yafes (W), faeer 21eet wens
I AT 3T Tl K e THH A fear s =nfew )

Frefafaa uet & s difsa
56. fo@ % e & SR, e fosidi o U 18 o & § 2
1) 560 2) 500 3) 100 4) 800

57. @® % IR, Fefafad § @ #F wma™ wt gaitis gt sAfyeafa T& € 2

(1) RRITH (2) Y= s (FRTE)
(3) e (4) TG
e TR n P10
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58. The entire existence of the author revolves round :
(a) Computer
(b) Mobile phone
(c) Typewriter
Identify the correct answer from the codes given below :
(1) (a) and (b) only (2) (a), (b) and (c)
(3) (b) and (c) only (4) (b) only

59. What is the main concern of the author ?

(1) That the teens use mobile phones.

(2) That the teens use computer.
(3) That the teens have forgotten the art of handwriting.
(4) That the teens use social networks for communication.

60. When confronted with signing a big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean ?

(1) A state of pleasure (2) A state of anxiety
(3) A state of pain (4) A state of confusion
-o0o-
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58. RIS K WUl T o 3-8 et B
(@) FHR
(b) HEEA ®H
(c) TR
I Tl T e ¥ W& SR F =TI Fiv
(1) e (a) 3R (b) 2) (a), (b) ¥R (0)
(3) e (b) AR (c) (4) e (b)

59. W@ & A foar :1 ¥ ?
(1) f& fFeiR GEEa ®F %1 ST R ¢

2) fo& fREIR FFRER 1 ITART FA T
(3) T o TweE 1 %al 4a T T |
(4) T forviR =R ¥ AHEIRTS Feaeh o1 ITAN I T |

60. T IS HIS T TR FIA Fi 91d 3T, A @ ! ' U | Forel @omer’’ S s gotl| 39
e 61 1 e T2

(1) o= i feurfa (2) gfv=an = feufa
(3) I = feerfa (4) Sore w1 ferfa
o0o
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